12”0533 (K12n0533)

a Linearized knot diagam

Solving Sequence

3

A knot diagranﬂ Clp €1 €5 €4 Cg Ci2

Ideals for irreducible component#ﬂ)f Xpar

I = (b — u, 685852313u'® — 556454916u'" + - - - 4+ 653732120a + 7160013, u'? — u'® + ...

I¥ = (—5.47513 x 10°7u?" — 1.03765 x 10°%4%5 4+ ... 4 1.25931 x 10%°b 4- 3.43121 x 10%°,
2.52837 x 100027 4 8.41887 x 10°%126 + - .. 4 3.70867 x 1024 — 9.79223 x 102,
2u® — 31u?® + .- — 1810u + 589)

I = (b+u, 2u® +8u” + 6u’ — 13u° — 23u* — 10u® + 3u* + a + 3u + 1,
u? + 4u® + 3u” — Tub — 13u® — 5ut + 5ud + 4u? — 1)

I = (b+1, 3a — 4u — 2, 2u* + 4u + 3)

IF=0b+1,a>+2, u—1)

Iy ={2b—a—2,a*+2, u—1)

I} =({b+1,a, u—-1)

* 7 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

2a6ﬁ3594’74’10»11"14’5*’44’84’12%637077611
C2 C6  C9

—u—1)


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI = (b
1067 ,u19

(i) Arc colorings

()

ag =
= (2)
o= ()
—1.04913u'8 + 0.851197u!'” + -
ag = u
0.158099u'® + 0.275222u'" + -
a7 =\ —0.293094u'® 4 0.271534u'" + -
—1.04913u'® + 0.851197u'" + - - -
0.293094u'® — 0.271534u'" + - - -
—1.04913u'® + 0.851197u'" + - - -
0.293094u'® — 0.271534u'" + - - -
—u? + 1
ay =
u
as = u
—0.0634274u'8 — 0.299411u'7 + - -
ag =\ 0.309916u'® — 0.197991u'7 + - - -
—0.489325u'® 4 0.908085u'7 - -
ag = \ 0.146260u'® — 0.320706u'7 4 -

alp = (

(ii) Obstruction class = —1

— u, 6.86 x 10%u'® — 5.56 x 108u!'7 4 .
—_ uls + .

0.652817u!® — 1.22239u!7 + - .-
0.0560035u!8 + 0.251833u!7 + - - -

_ 98599477 18+ 19045887 17+

c—u—1)

-+ 7.34496u — 0.0109525

— 2.08930u — 3.03953
-+ 2.24707u + 0.197936

+ 7.34496u — 0.0109525
—0.247070u — 0.197936

+ 6.34496u — 0.0109525
—0.247070u — 0.197936

— 0.689516u — 0.693690

-+ 2.86952u — 2.02077
-+ 1.12146w + 0.224248

— 1.72619u + 2.50033

—0.158823u + 2.17783)

— 0.0119146w — 0.862668

-4+ 6.54 x 108a 4+ 7.16 X

)

102
. 1773159057 u -+ 96551023

(iii) Cusp Shapes = — g2z u

32686606

163433030 U

32686606



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1 u19+29u18+~-~—21u+1
C2,C5,C10 WO w1
“ u'® — 120 4~ 1120+ 8
“ w4 38U+ 19
Ce, C9 Ulg —11u18++192u_16
C7,Cs,C11 U19—6u17+-..+2u+1
c12 ul® — 20! 4 - 4 640u + 206




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

e y19—89y18+"'+167y_1

C2,Cs5,C10 y'? =29y 4~ 21y — 1
cs Yt 4 4yt 4 42272y — 64
4 y19+17y18+...+342y—361

C6, Co y19 +9y18+ -+ 10112y — 256

C7,C8,C11 y' =12y 4 420y — 1

1 y19 _ 44y18 + .-+ + 39624y — 42436




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

1.011380 + 0.3134881
a= 0.32432 + 1.422431
b= 1.011380 + 0.3134881

u =

3.19066 + 0.855341

—5.53948 — 2.701441

uw= 1.011380 — 0.3134881
a= 0.32432 — 1.422431
b= 1.011380 — 0.3134881

3.19066 — 0.855341

—5.53948 + 2.701441

u = —0.563817 + 0.5422161
a = —1.26815 + 1.023951
b= —0.563817 + 0.5422161

7.09944 + 1.174611

4.73931 — 3.051701

u = —0.563817 — 0.5422161
a = —1.26815 — 1.023957
b= —0.563817 — 0.5422161

7.09944 — 1.174611

4.73931 + 3.051701

u= 0.678408
a= 0.230292
b= 0.678408

—1.17152

—9.47840

u = —0.102826 + 0.5849641
a= 1.67025—1.130961
b= —0.102826 + 0.5849641

4.80007 — 6.254251

1.28229 + 2.731361

u = —0.102826 — 0.5849641
a= 1.67025+ 1.130961
b= —0.102826 — 0.5849641

4.80007 + 6.254251

1.28229 — 2.731361

u = —0.263709 + 0.4945011
a = —0.994354 — 0.9133931
b= —-0.263709 + 0.4945011

2.36863 — 1.745651

—1.37224 + 0.883011

u = —0.263709 — 0.4945011
a = —0.994354 + 0.9133931
b= —-0.263709 — 0.4945011

2.36863 + 1.745651

—1.37224 — 0.883011

u = —0.006101 + 0.3331191
a = —2.12160 + 1.285211
b= —0.006101 + 0.3331191

0.09772 — 1.414031

1.26259 + 3.762391




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.006101 — 0.3331191
a = —2.12160 — 1.285211
b= —0.006101 — 0.3331191

0.09772 + 1.414031

1.26259 — 3.762391

u = —1.82852 4 0.273071
a = —0.568825 + 0.6679501
b= —1.82852 + 0.273071

—9.74488 + 5.385921

—1.90391 — 4.798881

uw = —1.82852 — 0.273071
a = —0.568825 — 0.6679501
b= —1.82852 — 0.273071

—9.74488 — 5.385921

—1.90391 + 4.798881

1.90401 + 0.145121
0.798373 + 0.4489291
1.90401 + 0.145121

—8.63257 + 5.485541

—4.82467 — 3.577541

1.90401 — 0.145121
0.798373 — 0.4489291
1.90401 — 0.145121

—8.63257 — 5.485541

—4.82467 + 3.577541

—1.90239 + 0.215881
—0.651528 + 0.3305591
—1.90239 + 0.215881

—11.79520 4 2.218721

—6.42414 + 1.592371

—1.90239 — 0.215881
—0.651528 — 0.3305591
—1.90239 — 0.215881

—11.79520 — 2.218721

—6.42414 — 1.592371

1.91277 + 0.406681
0.696362 + 0.5441851
1.91277 4 0.406681

—7.3598 — 14.60561

—3.48053 + 6.863281

1.91277 — 0.406681
0.696362 — 0.5441851
1.91277 — 0.406681

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

—7.3598 + 14.60561

—3.48053 — 6.863281




II. I¥ = (—5.48 X 107427 — 1.04 X 10°8u?% + ... + 1.26 x 105°b 4 3.43 X
1099, 2,53 x 1060427 4 8.42 x 10%8u?% + ... 4+ 3.71 x 10%2a — 9.79 X
1092, 2428 — 3142 4 ... — 1810u + 589)

(i) Arc colorings

e ()
- ()
e ()

( 0.00681744u27 — 0.000227005u26 + - - . — 8.46563u + 2.64036)

ag = 0.00434772u27 + 0.00823983u2% + - - - + 3.63527u — 2.72467
0.00201318u27 + 0.000373266u2% + - - - + 1.62410u + 3.93942
a7 = \0.00381269u27 4+ 0.000556062u26 + - - - — 0.710321u + 1.46510

0.00681744u27 — 0.000227005u2% + - - . — 8.46563u + 2.64036
0.00232347u27 + 0.00897606u35 + - - - + 5.43757u — 2.65782

—0.0111652u2" — 0.00846684u%¢ + - - - — 12.1009u + 5.36503 )

aip =

0.000787486u>" + 0.00285253u26 + - - - — 0.739078u — 0.231186

(7
(-

. ( u +1)
(
(¢
(o

IS

a5 =

!

0.00531622u2" — 0.00441396u?6 + - - - — 13.8077u + 0.531340
0.00187207u2" — 0.00379823u?% + - - - — 6.50788u + 0.163980

—0.0119948u27 — 0.00659420u26 + - - - — 10.2083u + 8.38054
as =\ 0.00447526u27 4+ 0.000556236u26 + - - - — 3.48973u + 1.29218

( —0.00515768u%7 4+ 0.00174483u26 + - .. — 2.124424 + 4.32190 )
aiz2 =

ayq =

—0.00281226u27 4+ 0.004003400:26 + - - - + 4.13143u — 0.354315

(ii) Obstruction class = —1

(iii) Cusp Shapes = 0.0000410394u%7 — 0.0223862u%® + - - - — 14.9786u + 4.40670



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 4(4u®® + 124027 + - - + 3496386u + 346921)
€2, C5,C10 2(2u*® — 314 + - - 4 1810u + 589)
€3 (u't +3u® + -+ + 6u + 2)?
C4 4(4u®® + 4u®" + - +2910u + 1318)
C6, C9 (u** 4 4u'® + - 4 6u + 2)?
c7,Cg, C11 2(2u28 —3u®0 4 ... 4 18u + 143)
c12 4(4u?® + 4u?" 4 - - — 331822u + 51386)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 16(16y%® — 1192527 + - -- 4+ 1.12038 x 103y + 1.20354 x 10*!)
Ca2,C5,C10 4(4y* — 12497 + - - - — 3496386y + 346921)
C3 (y14 + 7y13 4 +40y+4)2
Ca 16(16y® 4+ 120y*" + - - - + 3.30726 x 107y + 1737124)
C6, Co (™ + 14y'2 + - — 16y + 4)?

c7, 8, C11 4(4y®® —12¢y%7 4 - - — 208818y + 20449)

c12 16(16y%8 — 872" + - -- 4+ 9.39179 x 10% + 2.64052 x 10°)




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.966382 4 0.1109661
a = —0.828099 — 0.5742991
b= —0.89736 — 1.220311

1.97484 — 7.761731

—3.86929 + 6.385771

u = —0.966382 — 0.1109661
—0.828099 + 0.5742991
b= —0.89736 + 1.220311

1.97484 4 7.761731

—3.86929 — 6.385771

0.851893 + 0.5760431
0.774805 + 0.1182771
1.41322 — 0.395221

u =
a =

b:

—0.285405 — 1.2927401

—2.58201 + 4.987241

0.851893 — 0.5760431
= 0.774805 — 0.1182771
1.41322 + 0.395221

u =

—0.285405 4 1.2927401

—2.58201 — 4.987241

0.809296 + 0.7588521
—0.701976 + 0.4708981
—0.656408 + 0.3205721

—1.78597 — 2.141551

—6.76179 4 4.845451

0.809296 — 0.7588521
= —0.701976 — 0.4708981
= —0.656408 — 0.3205721

—1.78597 + 2.141551

—6.76179 — 4.845451

= 0.820658 + 0.1088031
= —0.497392 — 0.3199281

0.227845 — 0.1029841

—1.99347 — 4.000341

0.820658 — 0.1088031
—0.497392 4 0.3199281
—0.69832 — 1.715521

0.227845 + 0.1029841

—1.99347 4 4.000341

—0.656408 + 0.3205721
1.047290 + 0.7424221
0.809296 + 0.7588521

—1.78597 — 2.141551

—6.76179 4 4.845451

—0.656408 — 0.3205721
= 1.047290 — 0.7424221

b
U
a
b
U
a
b
U
a
b= —0.69832 + 1.715521
U
a
b
U
a
b
U
a
b= 0.809296 — 0.7588521

—1.78597 + 2.141551

—6.76179 — 4.845451

10



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —1.130570 + 0.6301861
0.307163 — 1.0046401
0.261322 — 0.2768941

5.45172 4 3.415821

0.19962 — 2.074401

—1.130570 — 0.6301861
0.307163 + 1.0046401
0.261322 + 0.2768941

5.45172 — 3.415821

0.19962 4 2.074401

1.41322 + 0.395221
0.288054 — 0.4676721
0.851893 — 0.5760431

—0.285405 4 1.2927401

—2.58201 — 4.987241

1.41322 — 0.395221
0.288054 + 0.4676721
0.851893 + 0.5760431

—0.285405 — 1.2927401

—2.58201 + 4.987241

—0.89736 + 1.220311
—0.584215 — 0.2784011
—0.966382 — 0.1109661

1.97484 + 7.761731

—3.86929 — 6.385771

—0.89736 — 1.220311
—0.584215 + 0.2784011
—0.966382 + 0.1109661

1.97484 — 7.761731

—3.86929 + 6.385771

0.261322 + 0.2768941
—2.02402 — 2.942501
—1.130570 — 0.6301861

5.45172 — 3.415821

0.19962 4 2.074401

0.261322 — 0.2768941
—2.02402 + 2.942501
—1.130570 4+ 0.630186.1

5.45172 4 3.415821

0.19962 — 2.074401

—1.77785 + 0.356161
0.794821 — 0.4395241
2.03221 — 0.270911

—10.49050 + 7.03206.1

—4.68824 — 5.117421

>~ Q@ €|l @ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o &g

—1.77785 — 0.356161
0.794821 + 0.4395241
2.03221 + 0.270911

—10.49050 — 7.032061

—4.68824 4 5.117421

11



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

1.78768 + 0.390751
—0.782070 — 0.5417821
—1.84939 — 0.111541

—9.89698 — 1.848151

—3.80483 — 0.455121

1.78768 — 0.390751
—0.782070 + 0.5417821
—1.84939 + 0.111541

—9.89698 + 1.848151

—3.80483 4 0.455121

—0.69832 + 1.715521

= —0.082350 + 0.2511691

0.820658 + 0.1088037

0.227845 — 0.1029841

—1.99347 — 4.000341

—0.69832 — 1.715521
—0.082350 — 0.2511691
0.820658 — 0.1088031

0.227845 + 0.1029841

—1.99347 4 4.000341

—1.84939 + 0.111541
0.680577 — 0.6478931
1.78768 — 0.390751

—9.89698 + 1.848151

—3.80483 4 0.455121

—1.84939 — 0.111541
0.680577 + 0.6478931
1.78768 + 0.390751

—9.89698 — 1.848151

—3.80483 — 0.455121

2.03221 4+ 0.270911
—0.676121 — 0.4336781
—1.77785 — 0.356161

—10.49050 — 7.032061

—4.00000 + 5.117421

2.03221 — 0.270911
—0.676121 + 0.4336781
—1.77785 + 0.356161

—10.49050 + 7.03206.1

—4.00000 — 5.117421
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L. I = (b+u, 2u +8u”" +---+a+1, u+4ud+--- +4u? — 1)

(i) Arc colorings

o ()

ag —
az =

—2u® — 8u” — 6ub + 13u® + 23u* + 103 — 3u® — 3u — 1>
ag =

( i
w8 + 3u” — ub — 10u® — 6u* + Tud 4+ uZ + u —2
—u’ —3ub +Tut 4+ 5ud —u? —u
—2u® — 8u” — 6u’ + 13u® + 23u* + 10u® — 3u? —3u—1
aip = —u” —3ub + Tut + 5ud — u? — 3u
—2u® — 8u” — 6ub + 13u® + 23u* + 10u® — 3u? —2u —1
—u” —3ub + Tut + 6ud — u? — 3u

—u8 = 3u" 4+ ub + 10u® + 6u? — 8ud — 9uZ + 2u + 2
2u8 + Tu” + 2u® — 16u® — 16u* +2u® + 8u2 +u—1

2u8 + 5u” — 5u’ — 19u® — 3u* + 1903 + 13u? —4du — 3
w+u—1

—u” —4ub — 3u® + Tut + 1203 + 3u® — 3u
a1z = —u8 —3u” 4+ 6u® +4ut +ud -1

(ii) Obstruction class =1

(iii) Cusp Shapes = 6u® + 22u” + 14u5 — 35u® — 59u* — 26u® + 10u? — 4

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u® — 10u® 4 394" — 77u® + 97U’ — 91u* + 51u® — 26u” + 8u — 1
C2,C10 u? 4+ 4u® + 30" — Tub — 130® — 5ut + 50 + 4w — 1
s u® 4+ 2u® 4 3u” — 4u® — 6ut + Tu? + Su+ 1
= u? —u® 4 5u° — 14u* — 3u® 4+ 3u® +u — 1
] u® — 4u® 4 3u” + Tu® — 1365 + 5ut + 5ud — 4u® + 1
‘6 u? —2u® + 5u” — 6u® + 11u° — Su? + 10u® — 5u® + 4u — 1
7 u? +u® — 20" —2u8 4+ 2u° + 3ut + 20+ 20 +u+1
cg,C11 w2 28 20 -3t 20— 20t u—1
€9 u? 4+ 2u® + 5u” + 6u® + 11u° + 8u? + 10u® + 5u” + 4u + 1
c12 u? + 2u® — 6u” — Tu® + 15u° + 4u? — 8u® — 3u® +2u — 1

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 ) =228 4+ 12y — 1
2, C5, C10 y? —10y® 4+ 39y" — 77y + 97y° — 91y* 4+ 51y° — 2612 + 8y — 1
s Y+ 28 +y" — 25 — 10yt + 449 — 372 + 11y — 1
C4 y° +10y" — 7y — y® — 2209 4+ 10193 — 43y + Ty — 1
c6, Co y? + 6y° + 23y" + 62y° + 113y° + 132" + 96y° + 39y% + 6y — 1
c7,C8,C11 y? —5y® +12y7 — 14y% + 69° + y* — 6% — 3y — 1
C12 y? — 16y° 4+ 94y" — 261y5 + 393y° — 318y* + 134y — 33y%> — 2y — 1

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u = —0.865294 4 0.63424471
a= 0.435521 —1.0984301
b= 0.865294 — 0.6342441

5.42733 + 5.083031

0.17320 — 7.125971

u = —0.865294 — 0.63424471
a= 0.435521 4 1.0984301
b= 0.865294 + 0.6342441

5.42733 — 5.083031

0.17320 + 7.125971

u = —0.538784 4 0.5537171
a = —1.116470 + 0.5963171
b= 0.538784 — 0.5537171

4.45461 + 7.562431

—0.11124 — 7.393191

u = —0.538784 — 0.5537171
a = —1.116470 — 0.5963171

4.45461 — 7.562431

—0.11124 4 7.393191

b= 0.538784 + 0.5537171

u= 145391

a = —0.210908 —0.245409 0.377120
b= —1.45391

u= 0.526629 + 0.0946611
a = —0.38098 + 1.637891
b= —0.526629 — 0.0946611

—0.68115 4 1.577291

—9.12272 — 4.788891

u= 0.526629 — 0.0946611
a = —0.38098 — 1.637891
b = —0.526629 + 0.0946611

—0.68115 — 1.577291

—9.12272 4 4.788891

u = —1.84951 + 0.275931
a= 0.667388 — 0.5515001
b= 1.84951 — 0.275931

—10.72300 4 4.062481

—5.12780 — 2.063891

u = —1.84951 — 0.275931
a= 0.667388 + 0.5515001
b= 1.84951 + 0.275931

—10.72300 — 4.062481

—5.12780 + 2.063891

16



IV. I} = (b+1, 3a — 4u — 2, 2u® 4+ 4u + 3)

(i) Arc colorings

N
— O
~

Il
N
S

)) —

ol R~~~ L Qe 3\)
| e L Ny 101 0]t <+ S || 1i6ui4
— s + 1,. S 3 + 4+ +2 + 4+ + + =3 + +
PN [a\] 3 <tlen | 3 3 3 o 3 3 — 3 I eI 3 3
o 3 | <t | N <H|en NG 3 3 wema | we
N - - N
T T I
© N =] I~ — — — 10 <t 0 —
3 3 3 3 3 3 3 3 3 3 3

(ii) Obstruction class =1

=0

(iii) Cusp Shapes
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

‘@ du* —4u+9

ca,C7 2u? +4u+3

cs, Cg, C9 u? 42

Ca (2u + 1)?

Cs5,C11 2u? —4u+3
s (u+1)2
C10 (u— 1)2
C12 (2u — 1)2

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 1632 + 56y + 81
C2,Cs5,C7 4y2 _4y+9
C11
€3, Cg, Co (y +2)?
Cq4,C12 (4y — 1)2
€8, C10 (y—1)°

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +1/=1CS) | Cusp shape
u = —1.000000 + 0.7071071
a = —0.666667 + 0.9428091 4.93480 0
b = —1.00000
u = —1.000000 — 0.7071071
a = —0.666667 — 0.9428091 4.93480 0

b = —1.00000
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V.I=(b+1,a*>+2, u—1
5

(i) Arc colorings

= (o)

ag —
az =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes =0

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 (u_ 1)2
€10
C3,C4 u?+2u+3
1 2
C5,C8, C11 (u+1)
242
C65C9, C12 u” +

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5
2
C7,C8,C10 (y—1)
11
C3,C4 y?+2y+9
Cg, Cg, C12 (y+2>2

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +1/=1CS) | Cusp shape

u = 1.00000
= 1.4142101 4.93480 0

b = —1.00000

u = 1.00000
= —1.4142101 4.93480 0

b = —1.00000
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VL IY=(2b—a—2,a*+2, u—1)

(i) Arc colorings

= (o)

ag —

az =
")
= 1
a9 5(1"‘1
2
ar= \—-a+2
a
+

—2a+1
a4 = \ —2a—1
—2a+3
ag = \ —2a-+2

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
€1, €2, C7 (u—1)
€3, C4, Ce uZ 42
Cg, C12
Cs,C11 (u+1)?
c8 2(2u? — 4u + 3)
C10 2(2u2 +4u + 3)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs (y_ 1)2
C7,C11
C3,C4,Ce (y+2)2
Cg, C12
€8, €10 A(4y® — 4y +9)
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(vi) Complex Volumes and Cusp Shapes

1.000000 — 0.7071071

Solutions to I¥ vV—1(vol +1/=1CS) | Cusp shape
u = 1.00000
a= 1.4142101 4.93480 0
b= 1.000000 + 0.7071071
u = 1.00000
a= —1.4142101 4.93480 0
b
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VIL. I =(b+1, a, u—1)

(i) Arc colorings

= (o)

e ()
e

o ()
e

o (%)
e

()
o ()
e ()
e ()

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,C2,C4 w—1
€8, C10, C11
€3, C5,C7 u+1
C6,C9, C12 (%
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,C3
C4,C5,C7 Y- 1
€8, €10, C11
C6, €9, C12 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v—1(vol ++1/—1CS) | Cusp shape
u = 1.00000
a= 0 0 0
b = —1.00000
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VIII. u-Polynomials

Crossings u-Polynomials at each crossing
(u—1)°(4u® — 4u +9)

“ S(u® — 10u® + 39u” — 77U’ + 97u® — 91ut + 51ud — 26u? 4 8u — 1)
S(u'? 4+ 29ut® 4+ — 21w+ 1)

- (4u®® + 1240*" + -+ - + 3496386u + 346921)

. (u —1)°(2u® + 4u + 3)

(u® 4 4u® 4+ 3u” — Tu® — 130’ — But + 5ud + 4u® — 1)
(= 1) (20 — 3160 - 4 1810u + 589)

cs (u+ 1) (u? + 2)%(u? + 2u + 3)(u® + 2u® + - + 5u + 1)
(M 4 3u 4 4 6u+ 2)H) (ut — 120 - — 1120 + 8)

o (u—1)(2u+ 1)%(u® + 2)(u? + 2u + 3)
=S e u—1)(uf? a4 38u + 19)

- (4u®® + 40" + - 4 2910u + 1318)

. (u+1)°(2u? — 4u + 3)

(u® — 4u® 4+ 3u” + Tu® — 13u° + 5ut + 5ud — 4u® 4+ 1)
(= 1) (20 - 316 - 4 1810u + 589)

6 u(u® +2)3(u® —2u® 4 +4u —1)

(M 4 4t 4 4 6u+2)H) (u! — 11u!® 4 1920 — 16)

o (u— 1) (u+1)(2u* + 4u + 3)

S +ud — 20" — 2uC + 2u® 4 3ut 4 203 + 20 +u+ 1)
(' = 6utT 4 2u 4 1) (2u® — 3u?C 4 18u + 143)

s 4(u—1)(u+ 1)*(2u? — 4u + 3)

(= u® = 2u” 4+ 208 + 20 — 3ut + 20 — 20+ u— 1)
St = 6ulT 4 4 2u 4 1) (2u®® — 3uC 4 - 4 18u + 143)

Co u(u? +2)3(u® +2u® 4 +4u +1)

(M 4 4t 4 4 6u+2)H) (ut? — 11u® 4 1920 — 16)
4(u —1)°(2u® + 4u + 3)

o (W 4 4u® + 3u” — TuS — 1305 — 5ut + 5ud + 4 — 1)
(= 1) (20 — 3160 - 4+ 1810w + 589)
(u—1)(u+1)*(2u® — 4u + 3)

o S —u® - 2u” + 2u63$ 2u® — 3ut + 2u3 — 2u® +u—1)
S = 6utT 4 2u 4+ 1)(2u® — 300+ 18u + 143)
u(2u — 1)%(u? + 2)?

€12 (4 2u® — 6u” — Tub + 15u° + dut — 8ud — 3u? + 2u — 1)
S(u' = 2u!® 4+ - 4 640u + 206)
< (4u?® 4+ 4u?T + - — 331822u + 51386)




IX. Riley Polynomials

Crossings Riley Polynomials at each crossing
o ((y — 1)°)(16y° + 56y + 81)(y° — 22° + -+ + 12y — 1)
(y"? -89y 4 + 16Ty — 1)
- (16y*® — 1192y%7 + - - - 4+ 11203834917014y + 120354180241)
(y—1)°(4y* — 4y +9)
2,65 (y? —10y% 4+ 39y" — 7798 + 97y° — 91yt + 51y% — 26y + 8y — 1)
Sy =29y 4 =21y — 1)
- (4y* — 1249%7 4 - — 3496386y + 346921)
o (y =1y +2)"(y* +2y +9)
S 420 T — 2% — 10y + 44y® — 3Ty + 11y — 1)
AWM+ Ty 4 40y + D) (" + 4" 4 42272y — 64)
(y— Dy +2)>* A4y —1)*(y° + 2y +9)
C. .
* Sy 4+ 10y7 — Ty® — P — 220y% + 101y® — 4392 + Ty — 1)
(M 4+ 1Tyt 4 - 4 342y — 361)
- (16928 + 12097 + - - - + 33072624y + 1737124)
. yly +2)°
o (4 + 6y° + 23y7 + 6245 + 113¢° + 132y + 964° + 3042 + 6y — 1)
(M 14y 4 =16y +4)%) (" + 99" + - + 10112y — 256)
(y—1)°(4y* — 4y +9)
€7, €1 9 8 7 6 5, .4 2
(y? = 5y° +12y" — 14y° +6y° +y~ —6y° — 3y — 1)
Syt — 121 4 20y — 1)(4y%® — 1277 + - - - — 208818y + 20449)
s 16(y — 1)°(4y” — 4y +9)
(y? = 5y® +12y" — 149y° + 6y° + y* — 6y> — 3y — 1)
Syt =121 4 20y — 1)(4% — 1277 + - - — 208818y + 20449)
16(y — 1)°(4y* — 4y +9)
10 (y? — 10y 4+ 39y" — 7798 + 97y° — 91yt + 51y° — 26y + 8y — 1)
Sy 29y 4 =21y — 1)
(4y® — 124977 + . — 3496386y + 346921)
yly +2)*(4y — 1)?
C12

(y — 169 + 94y" — 261y° + 393y° — 318yt + 134y — 33y — 2y — 1)
(" — 449" 4 -+ 39624y — 42436)
(16428 — 872y + - - 3% 9391789456y + 2640520996)




